

$$a_1 + a_2 + a_3 = 11, a_1 \times a_2 \times a_3 = 4f \rightsquigarrow \frac{a_2}{q} \times a_2 \times a_2 q = a_2^3 = 4f \Rightarrow a_2 = f$$

$$a_1 \times a_3 = 14 \rightsquigarrow a_1 \times q^2 = 14$$

$$a_1 + a_3 = 17 \rightsquigarrow a_1 + a_1 q^2 = 17 \xrightarrow{a_1 q^2 = 14} a_1 + \frac{14}{a_1} = 17 \rightsquigarrow a_1^2 - 17a_1 + 14 = 0 \rightsquigarrow a_1 = 1 \text{ یا } 14$$

$$a_1 = 1, a_2 = f \rightsquigarrow q = f \text{ ق.ع. (} q \notin W)$$

$$a_1 = 14, a_2 = f \rightsquigarrow \boxed{q = \frac{1}{f} \checkmark}$$

$$x^2 + f, 2x, x^2 - f \rightsquigarrow f x^2 = (x^2 + f)(x^2 - f) = x^4 + f x^2 - 1 \rightsquigarrow x^4 - 2x^2 - 1 = 0 \rightsquigarrow (x^2 - f)(x^2 + f) = 0$$

$$x^2 - f = 0 \rightsquigarrow x = \pm f$$

$$x = f \rightsquigarrow 1, f, f \rightsquigarrow q = \frac{1}{f}$$

$$x = (-f) \rightsquigarrow 1, -f, f \rightsquigarrow q = \frac{1}{f} \text{ ق.ع. (} q > 0)$$

$$S_v = \Lambda \left(\frac{1 - (\frac{1}{f})^v}{1 - \frac{1}{f}} \right) = 14 - \frac{1}{\Lambda} = \frac{14\Lambda}{\Lambda}$$

$$1 + q + q^2 + q^3 + q^4 = \frac{121}{\Lambda}, a_1 = 2f^2$$

$$S_\Delta = a_1 + a_1 q + a_1 q^2 + a_1 q^3 + a_1 q^4 = a_1 (1 + q + q^2 + q^3 + q^4) = 2f^2 \times \frac{121}{\Lambda} = \frac{242f^2}{\Lambda}$$

$$a_1 = 1, a_v = 4f \rightsquigarrow a_v = a_1 + 4d = 4f \rightsquigarrow 1 + 4d = 4f \rightsquigarrow d = \frac{4f - 1}{4} = \frac{4f - 1}{4} = 101, \Delta \rightsquigarrow a_f = 1 + \frac{4(101, \Delta)}{4} = 41, \Delta$$

$$t_1 = 1, t_v = 4f \rightsquigarrow t_v = t_1 q^v = 4f \rightsquigarrow 1 \times q^4 = 4f \rightsquigarrow q = \pm f \rightsquigarrow t_f = \pm \Lambda$$

$$\begin{cases} A = 32d \\ B = \pm \Lambda \end{cases} \Rightarrow \begin{cases} A + B = 32, \Delta + \Lambda = f_0, \Delta \\ A + B = 32, \Delta - \Lambda = 2f, \Delta \end{cases}$$

$$xf, \frac{-9\Delta}{f}, \dots \rightsquigarrow d = \frac{-9\Delta}{f} - (-2f) = \frac{1}{f} \rightsquigarrow t_{1,1} = t_1 + 100d = -2f + \frac{100}{f} = 1$$

$$128, a_2, \dots \rightsquigarrow a_n = a_1 q^n = 128 q^n = 1 \rightsquigarrow \boxed{q = \frac{1}{2}}$$

$$a_r, a_v, a_f \rightsquigarrow a_1 + rd, a_1 + vd, a_1 + fd$$

$$(a_1 + vd)^r = (a_1 + rd)(a_1 + fd) \Rightarrow a_1^r + r^2 d^r + 1 r a_1 d = a_1^r + 1 r d^r + 10 a_1 d$$

$$r^2 d^r + r a_1 d = 0$$

$$\left[\begin{aligned} & 10 d^r + a_1 d = 0 \rightsquigarrow d(10d + a_1) = 0 \rightarrow \boxed{d = 0} \\ & \rightarrow 10d + a_1 = 0 \rightarrow \boxed{d = \frac{-a_1}{10}} \end{aligned} \right.$$

$$a_r, a_f, a_n \rightsquigarrow \frac{a_1 + d}{r a_1}, \frac{a_1 + 3d}{f a_1}, \frac{a_1 + vd}{\Lambda a_1} \rightsquigarrow q = f \rightsquigarrow a_{10} = a_1 q^9 = \frac{1}{f} \times 2^9 = \boxed{128}$$

$$(a_1 + 3d)^r = (a_1 + d)(a_1 + vd) \rightsquigarrow a_1^r + 3r d^r + 3 a_1 d = a_1^r + vd^r + \Lambda a_1 d \rightsquigarrow 3r d^r - vd^r = 0 \rightarrow \left[\begin{aligned} & d = a_1 \\ & d = 0 \text{ ق.ع.} \end{aligned} \right.$$

$$r, r^2, a_f \sim r, q, r, q^2, a, q^3$$

$$r, q^2 - r, q = a, q^3 - r, q^2 \sim a, q (q^2 - r) = a, q (q^2 - r) \sim r, q - r^2 = q^2 - r, q \sim q^2 - r, q + r = 0$$

$$(q-1)(q-r) = 0 \Rightarrow q = 1 \text{ or } r \leftarrow$$

\swarrow \searrow
 \leftarrow \rightarrow

^

$$r, \frac{1}{r}, \dots \sim d = \frac{-1}{r}$$

$$a_f = r + \frac{r(-1)}{r} = \frac{\Delta}{r}, \quad a_r = r + \frac{1(-1)}{r} = \frac{1}{r}, \quad a_{r^2} = r + \frac{r(-1)}{r} = (-1)$$

$$a_f + k, a_r + k, a_{r^2} + k \rightarrow \frac{\Delta}{r} + k, \frac{1}{r} + k, -1 + k \sim \left(\frac{1}{r} + k\right)^2 = \left(\frac{\Delta}{r} + k\right)(k-1)$$

$$\frac{1}{r^2} + k^2 + \frac{k}{r} = k^2 - \frac{\Delta}{r} + \frac{k}{r} \sim \frac{k}{r} = \frac{-r}{r^2} \Rightarrow k = \frac{-r}{r}$$

$$-r, -\Delta, \frac{-r\Delta}{r} \Rightarrow \boxed{q = \frac{\Delta}{r}} \leftarrow$$

9

$$a_1, a_f, a_v, a_1 + a_f + a_v = V^3$$

$$a_1 = t_1, a_f = t_r, a_v = t_i, a_f - a_1 = \frac{a_v - a_f}{\Lambda} \sim a_1 (q^3 - 1) = \frac{a_1 q^3 (q^3 - 1)}{\Lambda} \sim 1 = \frac{q^3}{\Lambda} \sim q = r$$

$$a_1 + a_1 q^3 + a_1 q^9 = a_1 (1 + q^3 + q^9) = a_1 (1 + \Lambda + 4f) = V^3 a_1 = V^3 \Rightarrow a_1 = 1$$

$$a_1 = t_1 = 1, a_f = t_r = 1 \times r^3 = \Lambda \sim t_r - t_i = \Lambda - 1 = \boxed{V}$$

10